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fa: Jud: _ ezuuu_
(5x° —x—=3)5x— 1)—3 x 6x+ 1 S5x = (6+ 2x)(3x — 3)(4x + 2)
(2= 5)3x—6) + 6% —2x— 5 2+ 3x—1)(Gx+ 1)+ 6 x6x+ 1
(6x> — 3)(6x—5) + ¥ —5x— 6 6x — (1= 5x)(x — 5)(6x — 4)
(%= 3x—6)(dx+3)+4 x4x—2 (4" — 5x— 6)(6x—3)— 5% 3x— 5
x+ (1-6x)(2x+ 1)(2x—5) (x+ 1)(dx + 6)(6x — 6)
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ifa: SINVE AzuuY:
(5x> —x=3)5x—1)—3 x 6x+ 1 5x— (6 + 2x)(3x — 3)(4x +2)
25x° — 1002 — 32x + 4 —24x> — 60x> + 53x + 36
(> —5)(Bx—6)+ 6 —2x— 5 o +3x—DGx+ 1)+ 6 x6x+ 1
3% — 17x+ 25 5% + 16X + 34x
(6x> — 3)(6x—5)+x* —5x— 6 6x — (1= 5x)(x — 5)(6x — 4)
36x° — 29x% — 23x+ 9 30x° — 176x> + 140x — 20
(? —3x—6)(4x+3)+4 x4x—2 (4% — 5x— 6)(6x—3)— 5 x3x— 5
47 — 9% —17x— 20 24x> — 42x% — 36x+ 13
x+(1—-6x)(2x+ 1)(2x—5) (x+ 1)(4x + 6)(6x — 6)
24> + 52%° + 23x— 5 24x> + 36x% — 24x — 36
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